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e UNIT 1 Deep current |
OCEANS AND SEAS Causes of surface currents: -
Excrcise 5

ose the covreet option:

;iccpcst part of the Pacific Ocean s
s e ' N

"amtd‘*::m Trench v b, Java Trench

3. T‘!ﬂr:; Basin d. PuertoRico Trench

C. ,:.::, average depth of the Atlantic Ocean is

, _

-”/—‘

, O

5046 M b. 3046 m
8. ;646‘“ / d. 4646 m
4 Black sca is located North of
‘:‘ Tran b. China

4 Ishtmus is a narrow strip of land
connecting two b

o mountains b. occans
c. occans ~ d. Jandmasses v
5. Peninsula 1s a piece of land surrounded by

q. one b. tWO
¢. threev/ d. four

6. Total surface area of the Earth covered by
the water I1s: |

a.71% v b. 72%

c.13% - d.74%
1. The largest ocean of the world IS named

as: |

a. Pacific Oceanv” b, Atlantic Ocecan

¢. Indian Ocean d. Southern Ocean

8. The smallest occan of the world is named
as.

a. Atlantic Ocean b. Pacific Ocean

C. Indian Ocean = g Arctic Ocean v

9. Which part of the Ind;
as Arabian Sea?

a. North Western

¢. North Eastern

10. Apiece of land s
all sides g called

an Ocean is termed

b. South Fastern
d. South Western v/

d. Abay b. An Island v
C. AGulf d. APeninsula.
3 Give brief answers to the following
Questiong:
QL What 4re the causes of the Ocean
Currenggo
. g\ns. Oceans current are of two types
Urface currents
e ——
e ——————

urrounded by water on

urface currents are caused by winds and their

direction is modified by cffects of rotation of
the Earth and continental margins.

Ciuses of deep currents:

Deep currents are  caused by salinity and
Cmperature differences of the water.,
Q2, What are waves?

Ans, waves are a series of crests and troughs
that are developed on the surface of water by
dragging effects of winds. Waves do not

displace water from one place to another; rather

they are the means of moving energy through
water, '

| Q3. How are Sprin
Ans. Spring tides:

When the Sun, Moon and Earth are in a straight
line, high tides rise to higher levels and low
tides fall lower than normal. These higher and

lower tides are called Spring tides; they occur
on the occasion of a full and new moon.

When the sun and moon are at i ght angles with
respect to the Earth. High tides do not rise <o
high and low tides do not fall so low. Such

modcrate tides are called neap tides. They
occur on 7™ and 21th day of moon

g and Neap tides caused?

| Q4. Differentiate the Isthmus from the

strait?

Ans, :
Isthmus Straight
Isthmus IS a| Straight is g
narrow  strip  of | narrow passage of
land connccting | water connecting
two - . landmasses | two large water
and separating two | bodies. |
water bodies
Example Example
Isthmus of panama Gibraltar strait and
and  Isthmus of Malacca strait.
Suez Panama | Gibraltar connects
connects the Mediterranean
Caribbean sea and s€a  and Atlantic
pacific ocean sea.

QS. Write names of five major seas of the
world? ‘
Ans. Major Seas of the world are:

l. Mediterranean sea 2. Caribbean sea

3. Black sea 4. Arabian sca
5. Caspian sca
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Give detailed answers to the following

questions:

QI. Describe the main characteristics of |

major oceans.
Ans. There arc five
These are

1) Pacific occan

111) Indian Ocean
iv) Antartic/southern ocean  v) Arclic ocean
Characteristics of the Pacific ocean.

major occans on the Earth.

i1) Atlantic ocean

e Itis the largest and biggest occan ol the
world. 3

e It covers an areca of 165 miles square
kilomelers.

@ Its average depth 1s 4000m.

e s deepest part is located near Mariana
Islands, named Mariana trench, 10,924
m deep.

e Thousands of islands of different sizes

arc located in the pacific ocean.

Characteristics of Atlantic ocean:
It is the 3" largest ocean in the world.

(¢

e It covers an area of 70 million squarc
km.

e [ts average depth 1s 3750 m.

e Its decpest point 1s the Java Trench.

Characteristic of Antarctic /southern ocean
e It is the fourth largest ocean ol the

world.

e [t covers an arca of 20 mullion square
kilometers.

e [ts average depth is the South sandwich

trench which 1s 7235'meters deep.

Characteristic of Arctic ocean:
[t is the smallest and shallowest ocean

[ 5
of the world.

e It covers.an area of 14 million square
kilometcrs.

e It has an average depth point of 1000
meters.

e [ts deepest point 1s Fram Basin, which

1s 5665 mcters deep.
Q2. Explain the role of marine biodiversity
in our environment.
Ans. Marine Biodiversity:
The term marine biodiversity represents the
varicty of life in the ocean and scas.
Role of marine  biodiversity
cnvironment,
Marine life has a very important role in

maintaining our physical environment in the
following wavs,

e L T —

m__our

I - . -

O What ic py

o Geoprg '
Marine mﬂmm
environmental oxygen. the
Marinc plants supply 50% of the cnvirgp
oxygen and oxygen is life for almogt
organismes.

Absorption of CO»:

Marine plants absorb about 26% of the carh
dioxide emitted through human activitjeg .

Provide half of the net primary Qr"d"cﬁvit-

of the world.
The amount of cuiergy produced per ynjt are;

by plants in one year 1S called Pﬁmary
productivily Marine planls. provide half of the
world's Net primary productivily.

Source if high quality proteins

Fishing provides high quality proteins for
human beings.

Habitat for many marine lives:

Marine plants such as kelp and seagr;
provide habitat for many marinc life. Forms,

[Food Seurce:
Giastropods and shrimps fecd on micro larger

crabsiand [ish. Fish becomes food for Man,
Q3. What arc the possible threats to oceans?
Ans. Possible Threats to Oceans:

Only 13% of the total arca covered by occans
remains untouched by the damaging impacts of
human activitics. Most of the occans are under
the influence of human activities. Some such
activilies are: |

Qil and gas Drilling: Offshore dnlling results
in spilling of crude oil, Natural gas lquids,
diesel, nr hydraulic fluid mmto the surrounding
marine environment. These chemicals kill or
damage plankton, coral reefs, small fish and
larvac.

Pollution: Pollution is a huge problem
faced by inarine ccosystems as large quantities
of garbage and waste are continuously being
dumped nto oceans.

Overfishing: Humans arc catching more and
more {ish cvery year, leading to scrious marine
biodiversity losses.

Ocean  Acidifications:  Industrial
have been emitting large amounts ol carbon
diexide into Earth 's atmosphere. A significan
portion of this carbon dioxide is absorbed by
seawater  resulting  in the  increased
concenlration ol hydrogen ions. This makes
the sea water more acidic.

Additional Sho -t Question

17
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‘}; Df'i"cbl::} is a body of water partially
AnS Cd yv land with a board mouth. |
el lc"’Bay of Bengal and Bay of Biscay
E;stﬂl;m;v docs Industrial waste enter ihe
QJ'_ cccosystcnl? |

parte Industrial and agricultural waste first

fs. - ai
itcf into rivers and streams through drains and

| 4. Srcams

" or systems and then end up in marine
EWC -

r " Enlist some Industrial and Agricultural

Wa;fﬁﬁ?

A”S. Some
:{'fx:us Bactéria, Lead, Mercury, Cad{n_ium,
chromium, ~ S0aps,  detergents, pesticides,
nerbicides, T ertilizers etc.

05. Describe the significance of Mangrove
forests?

Ans. Mangrove forests are significant in
marine €cosystems as these forests act as buffer
enes between land and sea, they protect
coastal land from erosion and serve as breeding
and nursery- grounds for a variety of marine
life. |

Q6. What are gyres?

Ans. There are two circular loops of ocean
curents 1n the Pacific ocean. These loops arc
called gyres. In the Northem pacific, currents
move clockwise and im souther pacific,
currents move anticlockwise.

Q7. Define Tides?

Ans. Periodic rise and fall of the sea level ‘due

o the force of attraction of the moon and the
sun 1s called tides.

. Name ports of Pakistan?

Ans: Karachi port, Gawadar port and Bin
Qasim Port are the major ports of Pakistan.
09, Write a short note on Black sea?

8. Black sea is located in the Northern part
ol Turkey. 1t is also linked to the Mediterranean
X, Its tota] surface area is about (.44 million
quare kilometre. Its average depth is 1253

Industrial and Agricultural wastes

Meterg

310-. Define  peninsular and  Island
A‘L‘HSIHUIH?

: r?fi]h 1S a piece of land surrounded by water

e ICe sides and connected main land on one
: ein_

2 Arabian peninsyla

a.‘,.“-

-
- -.l.-'....,.,_._'_|I

.

W -r..---——-ul—--.- T i i

Itis a piece of land surrounded by water on all

| sides e.g Sirilanka and Maldivee are islands in
the Indian Ocean.

Additional MCQs
1. Seas are water bodies smaller than

b. Oceans  ¢.River |
2. A super continent called Rodina cxisted

about million years ago

a. 400 b. 600 c. 800

3. Dinosaurs roamed ) about 200
‘million years ago. '

a. Pannotia  b. laurentia ¢ pangea

4. There are major oceans on the earth.
a. 3 b. 4 .23

5. Java Trench is the deepest part of the
_______ocean

a. Indian b. Pacific C. Arctic

0. Pakistan has Km long coast, with the
Arabian sea.

a. 990 b. 890 c. 790

7. seais the largest water body found
In the interior of the continents,

a. Arablan sea b. Black sea c. Caspian sea

. are smallest waves

a. Ripples  b. Chops C. Swells

D, Seas are important because they
provides for trade

a. Short passage
c. Short time passage

10. are the animals and
on or near the sea bed,

a. Benthos b, planktons . Alagca.

| UNIT 2 _
LIVING WITH THE CLIMATE

Exercise -

1. Choose the correct option:
1. Agradual increase in
temperatures is called

b. Fasy passage

plants living

e —
—

average global

a. weather b. global warmingy

¢. climate d. climate change

2. Lightning is g type of extreme w
scen during

a. hurricanes b. 1loods

C. tornados d. thunderstorms
3. An increase In'global

to an increase in cvaporation.

a. pressure b. winds

C. temperatures/

rather

will lead

d. humidity
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:4- The hottest month of the year in Karachi
is

a. January b. March

c. April d. June v

i is the driest month of New
York. 3

a. February v b. April

c. May d. October

6. Global temperatures have increased
approximately °C over the last
100 years.

a. lvy b. 2

c.4 d>5

7. Scientists have predicted an increase In
global temperature of 2°C to . &

during this century.
a. 4v/ b.6 c¢.8 d. 10
8. Approximately % of world

population lives in the 500km of diameter of
coastal areas.

a. 60V b. 50
- ¢. 60 d. 90
9. The 2020 Atlantic hurricane scason

included record-breaking N
tropical storms

a. 30 V/ b. 50

c. 60 d. 90

Greenhouse effect, our
°C colder

10. Without the
planet would have been

than it is today.

a. 50 b, S50

c. 60 d.30/

Give brief «answers to the following
questions:

Q1. What is. meant by extreme weather?
Give examples.
Ans. Extreme weather:
Deviation from regular weather patterns leads
to extreme weather or extreme climate. The
events include unexpected, unusual, severe or
unscasonal weather.
Extreme weather is deviation of weather 1n
terms of intensity from the range that has been
seen 1n the past.
Example:

e Hurrncanes

e Flood

e Tomado

|

|

e Lighting
e Hail
Q2. Discuss
changes?
Ans. Climate change:
Climate change is change in average lima
conditions of an area. e |
The main threats of clumnatic change are:
1. Rising sea level: Our earth s 'Eclti
warmer day by day. Duc to the incregy © |
average temperature of carth ice on mmlmaim
melts rapidly and sea level is increasing Slmﬂns
2. Ecosystem collapse: Current inCrea:'
in temperature can collapse our ecosysten, ¢
chlorophyll in plants and proteins in a“il;lals
get destroyed at high temperature. So incregg, |

main threats Iof C“ma
tig

in temperature IS, a main threat to oug
Biosphere.

3. Meclting of Glacicrs Due to rapid
climatic  changes, and warming of y,

atmosphere,” glaciers are melting rapidly i,
polar regions which 1s an alarming situation fy,
the whole planct.

4, Global warming: The rise in lemperatyre
is causing global warming. The impact of
global warming will beccome more severe if ye
don't act to stop greenhouse gas emission.

Q3. Define Global warming., |
Ans. Global warming: A gradual increase i
average global temperature is called global
warming’ The temperature of our globe hag

increased approximately 1°C over the last 100
years.
Human activities have increased the

production of greenhouse gasses in air that |
has increased the impact of greenhouse
effect.
Due to the increase in greenhouse gasses in the
aimosphere, the climate of our globe 1s getting
warmer day by day. Thus increase In
temperature is termed as global warming.
Q4. What are the consequences of Global
warming?
Ans. Consequence of Global warming:
An increase in global temperature will increase
the rate of evaporation due to over cvaporation.
Some areas can become drier and in severe dry
conditions both plants and animals canno
SUrvive.

e May damage the crops.

_...—————"’/

el
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T s rapid melting of ice could rise the
ls oa levels around the world.

n sca levels, obviously,

347

affects climatic changes.
4. The wobble of Earth on its axis:

1. Production of greenhouse gasses

3. Overpopulation 1

» Risc 1
ﬂoodlllg
islands. ‘ | | ~ | Season.
What i8 distinct aImqt the lifestyle’ of | 5. Human Activities:
Q5 i of the coastal arca? |
peol Lifestyle of the people of coastal areas. | changes. For example
A is the arca where land meets the sca or
¢Coﬂ:' there is @ great variation in climate of|2. Deforestation
stal 4rcas and interior of the continent
coistin(:ﬁon about the Lifestyle o

fcoustﬂl‘ﬁ“‘:"".' J g
=, The climate remains moderate so

people prefer to live in coastal areas.

o Approximately 60% of the world's
population lives within 500 km of the
diameter of coastal areas.

o Pcople adapt dress, food and activities
according to their climate.

e Economic activities in such areas are
fishing and its import and export.

Give detailed answers to the following
questiuns: 1 _

0l. What are the main causes of climate
change?

Ans. Climate change:

The change in average climatic conditions of an
area is called climatic change.

Tvpes of climatic change:

An area can become colder, warmer, wetter or
dier over time. Qur. earth has been

experiencing  climatic changes for the last|

thousands of years.

In recent times our planet is getting warm due
fo human activities.

Causes of climate change:

There are number of causes of climate change
some of these are;

1, Plate tectonics: The  movement
continents over millions of ycars causcd by
tectonic plate’s movements may affect climate
changes. Changing position of the continents
changes wind flow and ocean currents around
the globe. These changes affect the temperature
and precipitation patterns of the continents.

L. Orbital changes: Earth's orbital changes
from elliptical 1o circular shape which affects

arth's distance from the sun, This also affects |

;limatic changes of an area.
* Changes in Earth's tilt:
"“-----_..._______r - -

of

climatic changes.

6. Volcanic Eruption:

| Volcanic eruption also causes climatic changes
of an area.

Q2. Explain ~the relationship between
extreme weather and climate change.

| Ans. Extreme weather:

Extreme weather is the deviation of weather
interns of intensity from the range that has been
seen in the past.

Climate change:

Climate change i1s a change in the average
climatic conditions of an area.

Relationship between weather and climate:
Weather refers to short term atmospheric
conditions. While climate is the weather of a
specific region, average over a long period of
time.

Extreme weather and climate change:

It 1s clear from the above statement that
average weather of an area for a long period of
time 1s called climate, more than extreme
weather events, more harsh will be the climate
of that area.

Extreme weather events such as heat weaves,
hurricanes, flash floods have become more
frequent in the last twenty years. A clear
climatic change has been observed.

There is a district link between the increased
frequency and intensity of extreme weather
events and climatic change.

1

Q3. Differentiate climate patterns of
Karachi and New York.
Ans, =
Climate pattern of | Climate p:atttazrnI
Karachi - of New York
Extremely Hot | Hot, humid
SUMImers summers
Arnd, windy winters | Cool, wet winters

s e

e —— A
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Human activitics are the main cause of climatic

f the people| Above activities are the main reasons for
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It 1s mostly clear | It receives
around the ycar frequent,  heavy | [Q7. How tornadoces are formed?
b rainfall. Ans. Whenever cumulonimbus clougs de
— ————— - —- - ) o . v
July is the wettest | Spring is  the | [into  Spinning tupn:l clouds  hy, ;1:,:.
| month in Karachi wettest scason. downwards the ground and become tornag Oy
Temperature in | It reccives snow in | [Itcauscs dcs‘lruclron ona !ﬂrgc scale, %
coldest month ranges | winter, sometimes | | Q8. Describe the l‘CFa'IIGn between clim,
between 14 to 26° in auturain  and | |change and agriculture: e
spring t00. - Ans. Climate change rellects an iNCreg,
It experiences a|lt experiences | |temperature, changes 1n precipitation Patt n
tropical climate humid subtropical | |cxtreme weather events etc. All these Elemeng‘
climate. are directly linked with yield, productigy, &n[;

distribution of crops. Thus climate chgp,
: : : | directly affect agriculture oulput.
Q1. Classify the Hurricanes? 09. H v

: _ . : . How can we reduce global warmipes

e _ 1 vy oo 1 unlcanes . g.
Ans. The saffir- simpson classifies b Ans. Global warming can be lowered down

by wind speeds. l - @ Reducing, the, combustion of f

Additional Short alcstions B¢ oy

Classification i1s;

fuels..
Cargry 74 S5 |y i
Category 2. 96-110mph (1.4- Reforestation

Category 3. 111-129 (178-208) km/h .

Category 4 . 130-156 (209 — 257) km/h |
Category 5 . More than 157 mph (257 km/h).
Q2. ilow Thunder is produced? l
Ans. The air in the path of the lightering 1S
heated to 54,000°F. (30,000°C) within a few
thousands of seconds. This makes the air
expand explosively, causing the-thunder, we

Lowering the production of CO,
Lowering greenhouse gasses.

ADDITIONAL MCQs |

1. Tornadocs are tunnels of rapigy

spinning air. ]

a. Vertically b. horizontally c. None

2. Tornadoes move at a speed of aboy
km/h

hear. s
: I f carbon | 2 14 to 30 knm/h b. 16 to 32 kim/h
Q3. Why has the atmospheric level of carbon c 18 10 35 kny/ h

dioxide increased by 30% since 19007 , ‘ _ . |
Ans. The atmospheric Tevels of CO, have EH[‘EI .hghtnmg bolt can contain up t
increased 30% since 1900 due to the following billion volts of electricity. |

O & 0 ¢

- Ew e ———— R A - [ — - —

a. One b. Two . C. three
— 4. Dust storms carry a huge amount of
i). Overpopulation.. ii). Combustion process |* “% arr) St & —?
: a. Water b. Sand c. Dust
A L 5. Blizzards are occurring in stormy |
iv). Increased number of vehicles o RIAELARRY AL UErig ]
conditions.

v). Increased numbers of Industries.

Q4. Why is the world's temperature
increasing?

Ans. The world is warming up. This increase 1n
temperature is caused by burning of coal, oil,

a. Rainfall b. Snow.fall c. Hatls
6. If the current trend of Global warming
continues, mean global temperature will
| probably increase by 2100 AD. I
2.2t06°C  b.2t04°C ¢2t08 C |

|

——

petro! and other fossil fuels. ; -
Q5. What do you mean by grecnhouse 7. Gases of the atmosphere that
gasses? | are termed as greenhouse gascs.
MY EN i i . Ue

Ans. Gasses of the atmosphere that trap heat |- Release  b. Trap o Chang -
are termed as greenhouse gasses. 8. arc uscd as cooling in refrigera
Q6. Enlist a few greenhouse gasses? a. CO; _ b. CHy _ K CFC? ti;'it)’- |
Ans. Some greenhousc gasses are 9. Is produced in agt'lcultllre ac B

o Mcthane a. CO» b. N,O c. CHy4

e Carbon dioxide | 10. Karachi experiences climatc

e Nitrous oxide a. Tropical = b. Subtropical i

e T AR o B it
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Pt

E"'E:f;osﬁ': the correct option:

Q- i patients arc especially sensitive to
(, AS pollution.

( b. waler

3. |

i ‘ d. land

” Sci atists discovered ozone hole in:

1-]9 63 0. 1975

4.

&1955 / d. 1995

Envirdnmental pollution has caused:
.,'g}obal warming  b. climatic change
., grecniiousc cffect  d. all of themv
s Use of pesticides and fertilizers is causing.

g, AIT pollution b.Land Pollutiony

. Water Pollution  d. Noise Pollution
5, Major causc of water Pollution is

. Chemicals b. Oil spillage

¢ Sewerage d. all of themv

6. lluminated buildings are the example of
2 Noise pollution b. Soil Pollution

e, Light Pollutionv”  d. Air Pollution
7.0zone layer is present in

2, Stratospherev’ b. Troposphere

c. Mesosphere d. Exosphere
8. The main reason for excessive use of
natural resources Is

b. Over populationV’

d. Pressurc
to the

2. Energy

¢. Temperature
Give brief answers
questions:
QL Define pollution and its types.
Ans. Pollution: The addition of anything
that brings unhealthy change to the quality of
ar, soil and water and affects other living
Orgamisms is called pollution.
Iypes of pollution:
Following are the types of pollution

® Water pollution

® Airpollution

® Land pollution

* Noise pollution. |
‘Vatﬁl" “"uﬁ““: Aﬂy llndCSll‘ﬂb]C

“ONtamination in water which affects living
“Tganisms is called water pollution.

following

——

349

- ' Geography -8
Air Pollution: Undesirable air quality of air

Which is harmful for living organisms is called
air pollution,

Land pollution: ~ The deposition of solid
or liquid waste material on land or underground

| that can contaminate the soil and underground

waler is called land pollution.

Noise pollution: When any  sounds
become unwanted or loud, irritating to ears and

Iharml‘ul for functions of the car s called noise

pollution,

Q2. Suggest some remedics to avoid noise
pollution?

Ans. Some remedies to avoid noise pollution.

e JTum off appliances at home and

offices that are making noise.
‘Shut the ~door. when. using noisy
machines.
Use ear plugs
Lower the volume of speakers.
Stay away from noisy areas.
Follow the limits of noise level.
Control noise level near sensitive areas.
Create healthy noise to eliminate
unwanted noise.
Usc noisc absorbents
machineries.
Q3. What are the impacts of air pollution on
our life?
Ans. Impact of air pollution on our Lives:

e Breathing in pollutants in the air can
cause a variety of respiration
problems.

Air pollution can cause or trigger
serious diseases such as heart
problems, asthma, pneumonia, eye
issues and lung cancer.

Children are especially at high risk of
asthma. | |

Air pollution 1is spreading global
warming.

Air pollution reduces visibility that
can cause accidents.

0O4. ow do environmental problems affect
different places of the world?

Ans. Planet earth a global village:
In recent times, we live mn an interconnected

world. Any change in the environment of a
place also affects the other places directly or

indirectly.

N NOisy

using the same resources like air, water, pecans

___n.—-——'_-_'-.-II

#-_#—

Scanned with CamScanner

| Being the inhabitants of a single planet, we ar¢

P



h
T

\

Focus Student Resonrce Book _M@ﬂ) T STV Glep
and § £ e [Lnvironment Irlcmlly“\& _

and forest. Environmental changes in a part ol

the world affect the environment of the wholc

world,
Example:  Pollution is such a problem

which affects the environment of the whole
world.

In 2020 forest fire in Australin affect not only

its own cities but also New Zealand and some

citics of Argentina and Chile

Give detailed answers to the following
questions:

Q1 Highlight main causes of pollution and
suggest ways to reduce them?

Ans. Pollution: The addition of anything that
brings unhealthy change to the quality ol arr,
soil and water and affects man and other living
organisms is called pollution. |
Causes of pollution: There are two main
types of causes of pollution.

|. Natural activities.

2. Anthropogenic (manmade) activities.

I. Natural causcs of pollution:

Natural disasters such as forest fires, volcanic |

eruptions, hurricanes and storms are natural
sources of pollution as they contaminatc our
atmosphere and water naturally.

2. Anthropogenic (manmade sources) causes

of pollution.
Most of the pollution is caused through INuman

aclivities some of these activili€s are:

e (Greenhouse gasses cmission,

e Burning of fossil fuel.

¢ Production of different types of solid

and liquid. waste.
e Deforestation,
¢ Disposing of industrial and domestic
waste into the water bodies.
e Use of insecticides and pesticides in
agriculture.

Naturzl activities contribute much less than
antiire, ngenic activitics which contribute to all
types of pollution.
Man himself is destroying his home land by
polluting it.
Ways to reduce pollution:
As an individual and a community we can
contribute to reducing pollution. By following
measures.

© People should be given awareness

about pollution and its lypes along with

the cause and harmful effect of
pollution.

%—

efficient  vehicles  and
should be used.

e Usc of public transport
preferred to personal cars,

e Industrics, airports and major 1.
should be constructed (gr aWay }nﬂls
the residential arca. O

o Usc ol pressurc hors and qudqpc
should be avoided. o

e Proper noisc silencers should |
in vehicles.

e There should be proper Wiy
nmnagcmcnl systems-in. industrieg,a;;
[actories. .

o Qllﬂll]lCi}ls should not be dispogeg o
into the watcer. -

e There should be less use of Pesticides
insecticides and  herbicides ang
fertilizers on crops. e

e We should focus on planting more gy
more trees, 1t is one of the
solutions to reduce air pollution, All
these measures should be strictly
followed, 1f we want 1o reduge
pollution on our dcarcst homeland, the
planct Larth. :

Q2 What responsibilities do individuals haye
to protect the natural resources?
Ans. Natural resources:
Natural resources are the things such as plants,
soil, watcr, sunlight, fossil fuels, wild life, and
minerals which provide us f(ood, shelter and
create energy [or us.
There are two types of Natural resources.

o Rencwable natural resources

e Non-renewable resources.
Renewable Natural Resources:
These are those things which are available for
usc not only for today but for the future as well
lixample: sunlight, air, plants ete
Non-renewable Natural resources
Non- rencwable energy resources are limited
and over use of these resources means that they
will not be available in future
lixample oil, gas | coal , metals etc
Industrial responsibilitics to protect naturdl
resources |
Lvery person should adopt the following
mcasures to protect our natural resources.
. Reduce reuse and recycle:

Sllm:l
{ be

C Useg
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quick expansion of industrial ‘and
agricultural activities.

2. Human activities have transformed forest

grassland and wetland, into arable and built up
lands.

3. More recent cffects of land use-include

oudent Resource Book 351
b
e
"
50uree i.¢ reduce the use of natural sources
2 means use the same thing again and
“sit means that finding multiple uscs for an |
in - |
W L. .
o I means precious and expensive
Nl L

416 Planting  trees  will

- tin frees.
l;dmgrccnhousc Basscs fl'{]m the
L

P phere ultimately  reducing -
1L SN '

qrming-

\\ﬂﬁ areness: People - should + be

] reness about natural resources

i '

alue. ,

, Conserve water:  More  water reservoirs
sfnould be constmct_ed_ to conserve water. Water
nould not be wasted 1n domestic activities.
iConSEl"\’L‘ Energy: Turning  off lights,
dectrical appliances and machines when they
e nOt in US€ can conserve energy. We should
ie long lasting bulbs and LED lights,

jUse of public transport:  Public transport,

valking and bicycles should be adopted to
wvoid pollution.

. Avoid plastic bags: Biodegradable bags or | production grew

dloth begs should be promoted.

8. Usc of alternative energy resources:
Aliemalive  energy resources - should be

adopted to conserve non-renewable energy
[ESOUICES.

By adopting all of the above measures we can
MYC our energy resources: as well as the
environment,

0. Tow is excessive use of land causing
lireats to the environment?

Ans. Natural resources® The natural
_-_—___—"'—_l-—-—-

wosystem provides services to other living
rganisms for their survival and better quality
o life. These services are called natural
sources,  These  services  include food
Production,

malnlcnancc, Wwdsle (reatment, erosion control
d entertainment

causing threats

to the

CCosystem is directly affected by
use has experienced vast changes
er the past half century due to
pulation and economy, urban

\\% _

"use, Jand
Yorldwide oy
grUWing PO

"1 sources should be recycled for further|
Al '

global [ we w

Jclzut:mif:.als. In nature w

. ‘ : > wi }
climate regulation, biodiversity

urban sprawl. soil erosion, soil degradation,
salinization and desertification.

All above changes have altered and destroyed

our natural ccosystem.

We have to take measures on an urgent basis, if
ant Lo protect our natural ecosystem.

ADDITIONAL SHORT QUESTIONS

given Q1. Define pollution?
and their| Ans.

All those substances which contaminate

our air, food, water "and soil are called
pollutants.

Q2. Are pollutants visible or invisible:
Most of the pollutants (harmful substances) are
visible like smoke, dust particles, ash and are

hile some pollutants are
Invisible like gasses and radiations.

Q3. What is the plastic production rate in
the world?

Ans. Plastic production rate is growing per
ycar in  the world. Worldwide “plastic

from 1.5 million Metric tons

per year i 1950 to 359 million metric tons in
2018.

Q4. What is the reason for acid rain?

| Ans. Pollution is the basic reason for acid rain.

Q3. Define smog?

Ans. © Smog’ is a term which was first used in
the 1900s at first to describe a mixture of
smoke and fog. It is air pollution which reduces
visibility.

Q6. Why is the Indus River
endangered?

Ans. Indus river Dolphin is the world’s rarest
type of dolphin. Its existence is in danger
because the river water is
by day. The government of Pakistan and WWF
Is struggling to save this rare mammal

Q7. What do you know about Minamata
discase?

dolphin

Ans. Minamata discase is a poisoning that
loccurs  in humans  who  consume fish
contaminated by high levels of mercury.

Q8. Where was Minamata disease first
discovered in the world?

Ans. Minimata disease was first discovered in
|Minamata city. Japan where large amounts of
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MUY W released in the water by chemical

industoes.
QY. Describe WHQ's report abeut water, in

<817,

Ant Acconding to a 2017 WHO's report, 2.1
dillwon poople do Dot have Socess o safe walkr.

Q1. Where was the orone hole was first

obhsorvad?
Ars. The arone hole was first observed 1n

'I..'P"

LN -
\'\:‘ L) Y .‘\“::1 LiIC.

Qil. Describe st least three renewable
energy resources from which electric energy
can be produced?

Ans. 1. Hydroclectric energy:
Hyvdroeketnie  power ntors
- from the rapid flow of water.

hi‘ -l.“

aZoric crale

‘-'-.t..

solar <enargy

ﬁ.!lﬂ"l "h'
-..-.h l;’-‘.— L

1nto

DD]TIO.\AL \[CQ\
xture of and fog.

I\ B W Vapoun
S to million.metric
scarded into the water

t.ﬁ- -1'

uLL-

l"'}

- -

i N
-

C.
o air peliution

o Wutd
4. The Indus TIVEr is one of the world's

rarest Vpes of dolphia found in rivers.

-

UNIT4 hy
INDUSTRIALIZATION Any,
INTERNATIONAL TRADg
Excrcise
1. Choose the correct option:
1. Urbanization is the growg
development of: any

D. towns
d. hamlet

3. citiesv’
c. villages

2. Bilateral trades is between
- | countries: —lhe
a. 2 countriesv’ b.3 countries
¢. 4 countnes d. 5 countries
3. The textile industrysis an ’mpﬂl‘lant
| industry of \ V'
z. Canada b. Afgbanistan

c. Pakistanv d. France

’4. Faisalabad is an important city for;
3. sugar industry. b. sports industry

¢. cement industry - d. textile industry/
~Small machines are used for:

———— g
th

a. small scale industryv’

b. large scale industry

¢. Handicrafts d. medium scale

6. Cement industry is an example of:
a. Small scale Industry

wh—

b. large scale industryv’

¢. Handicrafis. d. medium scale

7. Movement of people from one village to
city is known as:

& Whale h. RoMghinS ¢, Fish
5. Minamata dlieate 18 causea by tansuminfz
fish contaminated by high levels of
2. Sodiung R SYiver
6. In 2019AVHO stated in a report that

million people lack access to essential |

drinking water.
a 583 d. 685 c.785
= QOzone hole was first ever Ciscovered in
over Antarctic
IC83 b. 2010 c.2020

lavers protects the earth from

harmful ultr‘winlet radiations
a. Ozone 5. Oxvgen ¢. Nitrogen

Eﬂ ri'l

-—i—-h

—

1
| «
- AT
C. NICT -.._H'\ fl_-.*

}H-I 'lr

10

l—-1

b. rural-urban m grationy’

r City migration

incial migration

8. The process of separating seed from
cotton balls Is:

c.i

i::t:.‘:r Dr

l"..L

a. spinning b. weaving

b. einnings/ d. harvesting

2. Give brief answers to the followlig
questions:

Q1. Name four industries of Pakistan.

Ans. 1. Textie Industry
2. Cement Industry 3. Iron and steel Industry

4. Ferulizer industry
Q 2. Give at least one reason for the
migration of people from rural to urbaf

areas.
__—--"'—’—"—.
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Fncﬂ]‘ S;:Or better economic opporftunities
L

AN ealth and educational facilities.

Z'F&hﬂt is meant by bilateral trade?

gns Trade: . . i
fc is an exchange of import (buymg) an

Tmon (selling) of goods and scrvices between

El?g‘cren[ cnllnll'iﬂS.

pilateral trade: o

Bi[alcml rade i1s the exchange of goods

etween (WO nations promoting irade and
invcslm@ntq
ample:
E:aﬂd?[l;elween Pakistan and China. |
04. WWhat is meant by large scale industry?
Ans. Large scale lnd'ustry: | |
Large scale industrics arc those mduslges
which give huge infrastructure, raw matcr@l,
high manpower requirements and large capital
. requirements.
- Example:
~ The textile industry in Pakistan is a large scale
~ industry. As it has a very huge infrastructure, it
- requires @ large amount of raw material and
~ ligh manpower to work.
Q5. Give at least one veason for migrationto
urban arcas? ~
Ans. people migrate from rural 1o urban areas
for these following reasons
. For better ecotiomic opportunilies.
L. For better health facilities
. For better educational fagilifics.
J Give detailed answers to the following
questions:
QL Dlustrate four “stiages of the textile
manufacturing Process.

- Ans. Stages ofuthie textile manufacturing
Process:

——

—

—

lextile Industry is the most important large
Seale ndustry of Pakistan. There are more than
Mehundred textile industries in the country.

~"U textile industry is basced on cotton yicld.
Y Cotlon s a Kharif crop in Pakistan which

§ : : ,
wan In Aprll —may and harvest in October-
OVember

I 1S P
lages,
| ]'GI'HWing

t0cessed into cloth by four different

and Harvesting:
Cotton seeds are grows in April- May.

* Crops are harvested in  October-
y . November, |
* Ulnjpg.

\

e

o It is the 2nd stage in which seeds are
separated from cotton balls. Cotton
flowers are compressed into bales and
now these bales are ready to be
transported.

J. Spinning:

© In this stage processing of yam from

cotton 1s done.
4, Weaving:

o 4" stage is weaving in this stage cloth is

~ produced from yamn. This cloth is

further used into garments and a variety
ol colton products.

Q2. Write a paragraph on the role of the
IMFE to help the countries for cconomic
development,

Ans. International Monetary Fund

(IME)

The IMF 1s an_organization of the United
Nations. It proyidesfinancial assistance in the

form of. loans “to the countries for their
CCONOMIC Progress.

Role of IMF:

AME “provides financial assistance along with

tecchmical help in the form of loans to the
Countrics for their cconomic progress on
tierests. It also cnsures that the loans taken by
the countries arc used properly and returned.
190 countries are its members: its head office is
In Washington DC in the USA.

iMF provides loans to Pakistan on its request to
meet the shortage of its income. |
IME also plays a negative role in the countries
because it interferes 700 much in internal
matters ol countries, which are its members.
Q3.  Explain the links
industrialization and urbanization?
Ans. Industrialization:

It 15 a large field of human activities. People
change the raw materials into usable finished
goods through various processes by machines
and tools.

Industrialization consists of the following steps.
Inputs Process oufpul
Urbanization:

Urbanization is the growth and development of
citics when a large number of people becomes

permanently concentrated in relatively small
arcas and [orin cities.

Link  between
Urbanization:

between

Industrialization and

|
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Industrialization mostly attracts people to move
towards them. llerc people get better
opportunitics for jobs and they arc p:uc! ‘uf'cll
and they arc provided with better lifc facilitics.
Near industrics pcople get accumulated duc 1o
above mentioned facilitics and the arca 1S
turned into a city. This city keeps Srowlis
more and more, the process IS called
urbanization,  thus Industrialisalion_ and
urbanization are interlinked and go side by

side.

ADDITIONAL SHORT QUESTIONS
Qi. Why do pcople migrate to other
countries from Pakistan? |

Ans. People migrate to other countri€s from
Pakistan in search of better Income
opportunities. They go to other countries, get
work in those countrics and earn and send

money to their families in Pakistan. |
Q2. Describe Pakistan GDDPs details of the

industrial sector?

Ans. Pakistan Industrial sector accounts for
28.11% of the GDP. Of this, manufacturing
makes up 12.52%, mining constitutes 2.18%
construction makes up 2.05% and eclectricity
and gas 1.36%.

Q3. Name the processing stages of the textile
industry? |

Ans. The textile industry contains the following
processing stages.

]. Growing and harvesting

2. Ginning 3. Spinping 4. Weaving

Q4. Enlist major‘experis of Pakistan?

Ans. Exports.of Pakistan

1. Cotton of Pakistan 2. I'ish

3. Sports'Geods 4, Leather Goods

5. Surgical.instrument 6. Carpets |

7. Handicrafls.

Q5. Enlist major Imports of Pakistan?

Ans. 1. Edible o1l

2. crude oil

3. Mining and agriculturc machincry.

4. Mclals 5. Steels 0. Iron ore

7. Electric cquipments

Q6. Write the names of the trade partners of
Pakistan other than China?

Ans. ‘The following countrics are the trade
partners of Pakistan other than China.

354 ISP -—\G‘ﬂ’m@
1——_Il e Saudi Arabia 3

o Turkeyelc |
Q7. Why does Pakistan need the coopey,

lof the IMF for the development
economy?

Ans. Pakistan needs a huge amount tg
working on different projects for the Welfar:g
its people. The income resources are very
and expenditure is much more than jpe,

That is why cvery year Pakistan needs [y
financial aid in the form of loans on interegt

|Q9. Describe the ways to reduce the impory
of Pakistan?
Ans. Measure to reduce imports
o Reduce the import of luxury items,
| e Develop the-software industry op ,
large scale.
o Needs to increase production of high
value consumer goods.
|Q10. What measures should be takep ¢,
improve revenue from export? _
Ans. . Measures to improve Revenue frop
EXpOrts.

o Explore more markets

e Improve the tourism industry.

e Incrcasc thc cxports of higher value

added goods.

e To improve the marketing system.,
Q11. What is meant by regulations in trade?
Ans. Regulations are the laws to carry out
smooth movement of the goods.
ADDITIONAL MCQs
I.  involves an extensive organization of
an  economy for the purpose of
manufacturing.
a. Industrialization
c. Immigration
 § 1s the migration of people from one
country to ancther country.

a. Immigration b. Emigration

c. Sumple Migration

3. People work in other countries and send
to their familics.

a. I'ood b. Money c. Melals

4. Pakistan is an country.

a. Industrial b. Developed

¢. Agricultural |

5. crops are those crops which provide

raw materials for a variety of Industrics.

ﬂl]n
it

|
loy,

3

H

b. Urbamzation

e Afpghanistan a. Cash b. Food c. Raw :
® lran 6. There are more than textile
~ @ Indonesia Industries in Pakistan.
. —
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9. Chaman is international border crossing |

“ g A crop in Pakistan. between: | )}
v otton 13 & — ; |
‘ l“_'co b. Rabl C. Summer a. Pakistan and India )
'};paﬂfls (he processing of yarn from raw|b. Afghanistan and China
" - c. Pakistan and Iran 4
o~ el L ,..
-“ning- b. S(Ili'm:““gmn‘i'r;:;?:;“g r d. Pakistan and Afghanistanv/ {*:
1.3 tcx;i'"’t;: - — 0 Give brief answers to the following l:n
pin P4 -y 0 0 questions: "
o 0 o . o Q1. Define the following terms:
! 70 is AN abbreviation of i. Mobility -
\ irati Pl ; ,
w{l’oﬂd Tradc Orﬁa;rlzzgle;tion - |Mobility is the movement of people from one
lbi‘:’f-‘"...———'——__""‘-§-l':l Transpe” = place to another. It 1s done through
) UNITS transportation. For most of the history of
TRANSPORT AND ITS mankind, human feet and domestic animals
IMPORTANCE were the only mode of transport. Modemn
Exercise

technology has made it easy for people to move
»se the correct option: {rom one place to anotherina very short time. !

?;z most common transportation mode is | ii). Infrastructure
I,

o . |The basic physical and organizational
T aYS b.air structures and facilities for example, buildings, 4
1 ralvaY d. roads < |Toads, power ‘supply etc needed for the
; ships | — L operation of a society, enterprise or a country
y The cheapest modebogit: ansportation is __ | are €N indastructure. '
 railways :

Infrastructure is. the set of fundamental -

facilities and systems that support  the.
3, Indus highway is the main connecting [sustainable functionality of a country.

ad from to Peshawar-. Q2. erte‘the names (_1f sea ports of Pakistan
e b. Ouetta and their importance in trade. j

s Karachiv/ Q Ans. Sea ports of Pakistan. :

. Makran - d Ch-aman : 1) Port Qasim: A\

4, Silk .route connects Pakistan with Y . it is located in Karachi, sindh ]
| 2 Russia b. Iran Importance: |

¢. China v/ d. Afghanistan [t 1s an important port where major items like
5,Iran Pakistan train service runs from __, |iron ore, coal, edible oil, furnace oil and LPG

1 Jalalabad to Quetta ~ | containers arc traded. \
| 0. Zahedan to Lahore ¢. Zahedan to Quettas/ ;l) !(arachl po-l_'t: ' Tyt R
| t 1s the busiest port of Pakistan which s

d Kabu! to Peshawar located in Karachi.

b Pakistan International Airline carries Importance:

—— of domestic flight. It handles more than 60% of the total import
K 0% b. 80% | and export of different ifems such as cement,
..90% d. 100% Iron ore, steel scrap, textile products, rice

1. Indug highway covers the distance of|Wheat, manufactured

goods, fuel and oil.

s & i) Gwadar port;

%1546 km b. 1264 km It 1s Iu.cutcd in Balochistan,
01464 km d. 1050 km |:II}p011(t:1ncc: | o :
| % Which E e | lL1s a key pioject of CPEC. 1t is quickly turning
, “'Pﬂkista(:::;l:;fgts (Il):z:ltss handles about 60% to the mujor center of ' internal trade. It
2 : - | rovides numerous ec ! itics.
; pm Qasiim b. port of Gwadar p 15 CCONOmMIC opportunitics
MOt of Karachiy

d. port of Pasni l

| \
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Q3. Write any three long term benefits of

B g

Ans, CPEC: China Pakistan economic

corridor is a joint venturc by China and

~ Pakistan for intcmnal tradc.

Three long term benefits of CPEC:

It has cnhanced Pakistan’s (ransportational
infrastructurc.  Motorways - linking

different citics are the best transportation

roads, which has lesson the traveling time of

goods as well as passengers/

Boosted Pakistan economy:

It has boosted Pakistan trade and economy by

“increasing trade with china, central ~Asia

Russia,. Middle East and Europe.

Improved Pakistan Import and Export.

CPEC has improved our import and export and

boosted employment of Pakistanis through

international trade.

Q4. Ilow does tramsport play a role In
developing a settlement?

Ans. A Developed transport system is one of
the major reasons for the growth of any
seftlement. -

it links producers to markets, workers to jobs,
students to schools and sick to the hospitals. It
is onc of the factors that influcnces a
community's quality of lifc.

Transportation provides access to food, health |
care. educational opportunities, recreation and
employment. An efficient, and affordable
transport system is vital-for the development of
a settlement. Due-to advanced transport
systems, small towns have been changed into
mega cities.
Q5. What are the strengths of transport

infrastructure.in Pakistan?
Ans. strengihs of transport infrastructure in

L]

(356)

I . %
initiatives like establishmep 8

e Ncw
Gwadar port is the major step tgy, of
the Pakistan government. by

Give detailed answers to the fo)q,,.
questions: ' | n
Q1. What are modes of transportatiop,
their characteristics?
Ans. Transportation:
Transportation means the movemep,

goods and persons from one place to anothe; t?f
different modcs. y
Modes of transportation:
Modes of transportation means a Combinaliun
of networks, infrastructures, vehicles and the;
working modes of  transportation cap b;
classified into three groups.

o Land Transportation

e .Air Transportation

e Water Transportation
1. Land Transportation:

The most common and cheap mode of

transportation is land transportation.
Typcs:
a. Road Transportation
b-Railway Transportation. -
Characteristics of Land Transportation:
It exists in all parts of the world.

ang

©

e The cheapest and common mode of
{ransportation.

e It is {lexible as compared to other
modes.

o It has a high capacity for carrying goods
as well as passengers over short
distances.

2. Air Transportation: [t is the latest
means of transportation which started after

WWIIL It includes all those vehicles and
conveyances used to travel and transportation
of goods through the air.

Pakistan.

e The road networks have been|Characteristic of Air transportation:
cxpanding constantly. e It takes a very short timc to move

e Ncw motorways and cxpressways pecople and goods from onc place 10
made throughout the country have another place.
significantly reduced the time to reach e It is a very expensive mode of
their destinations, {ransportation.

e Well organized public transport|3. Water Transportation: Transporting @
projects like metro Bus have facilitated | boat, ship or sailboat over a body of water such
pcople. as sca, occan, canal or river 1s known as watcer

e Pakistan railways is the only enlerprise | transportation. -
vaiding rail services, but the airline | Characteristics of water transportation:
industry has greatly benefited its o It is the cheapest mode of
passengers. | transportation.

\ = . = —— R
| - |
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¢ E-Eough this mode.

LIS primarily used for the carriage of |

pcgplc and cargo. |
qluate the importance of effective
Q0 ) tion for international trade?
ngpﬂﬁa . _
{r rnal Trade:
s I onal trade is also known as
; [nternationd .
| trade. 1L 1S the trade among the counties.
glo ries import goods to fulfill their nceds
CO“’pron goods that arc more or greater in
nd ber OF quantity.
“umn offective transport system 1s one of the

. 2 qeeds for the development'and promotion
l1£is'l;,:usmatil:ma] trade. It plays a significant part
.nf lhe growth of international economies.

-4 There is a close relation between
;r;temational trade . and transportiation. The
gansport  System is an integral part of
ternational trade as its helps in completing the
pIOCESS of imports and exports of goods.

;A well organized transportation system
scilitates the movement of goods in reduced
ime, less budget and less energy resources. An
ficient transport system improves efficiency
of international trade.

The air transportation system is the best, the
quickest and safest mode for international
irade. But the water (sea or ocean) transport
system is the cheapest mode {0r. int€rnational
trade.

Q3. Explain how transport is a key measure
for economic development.

Ans. Economic development:
It can be.defined as an improvement in

mcome, eduecation levels, transportation,
infrastructures, utilities and technology.

The transport system is a key measure of the
tconomic development of 2 country.

The economy of a country depends on the
cfficiency of its transport system. For the
lollowing rcason an cconomy depends  on
ransportation.

. A good transport system promoles industries
ad reduces the cost of raw materials or
Manufactured goods,

2, Transmrl routes influence land value.

-Fast transportation allows perishable foods to

distributed (0 a wider market in less time.

1:_TT3HSp0rlation enables a country to trade
Mith other countries.

 Geography -8

goods can also be transported | 5. Fast, safe and comfortable transport

contributes to the growth of the tounsm
industry that plays a major role In econom!

development.

6. Transportation moves raw matcrial to the
producer and then supplies finished products 10
CONSUMCTS.

ADDITIONAL

SHORT QUESTIONS

Q1. Describe the importance of roads?

Ans. Road transport is the most popular and
widely used mode of transportation within a
country. It is extremely vital for internal trade.
There are many benefits of roads as compared
to other means of transportation.

Q2. Enlist Pakistan's few domestics’
airports?

Ans. 1. Bahawalpur Airport.

2. Dera Ismail khan Airport

3. Islamabad airport

4. Chitral Airport

5. Gilgit Aurport etc

| Q3. Write a short note on silk Route?

Ans.~The Silk Route or Karakoram Highway
connects Pakistan with China. It connects
Kashgar with Islamabad. The most famous
items traded on silk routes are silk, cotton, rice,
salt, copper and gemstones.

Q4. Write a short note on CPEC?

Ans. CPEC is an abbreviation of China
Pakistan Economic Corridor. It is a framework
of regional connectivity fro common interest of
China, Pakistan and other countries, through
CPLEC, Pakistan economy and infrastructure
will  be strengthened and employment
opportunities will be available.

Q3. Define Geospatial technology?

Ans. Geospatial technology is the integration of
geographical information  systems (GIS),
Glut?ul positioning system (GPS) and remote
sensing.

Q6. Describe some functions of Geospatial
technology?

Ans. Functions of Geospatial:

L. It allows us to determine the exact location
ol an object on our planet.

2. It simplifies complex data that helps policy
makers.
3. 1t collects, stores, interprels and visualizes

information regarding energy in every aspect of
life.
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4, It mmproves communication and

management during crises such as natural

disasters.
Q7. What is the importance of the National

trade corridor project?

] . . . . i . I
Ans. This corridor will bring a huge change in
|

Pakistan's cconomy by gencrating revenues
such as toll tax and freight. Motorways are part
of this project.

Q8. How much international trade is
transported through water transportation?
Ans. Approximately 90% of all international

trade is transported through
oceans and seas that 1s through = water
transportation. . :
Q9. What is the cheapest mode of

transportation for international trade?

Ans. Water transportation is the cheapest mode
of International trade.

Q10. What is the most expensive mode of
International trade? |

Ans. Air transportation is the most expensive
mode of (ransportation,

Q11. Which animals were

transportation in old times?
Ans. Horscs, donkeys, oxen and camels were

uscd for transportation in the old days.

used for

1. means the movement of goods and
persons from one place to another.

a. Migration b. Immigration

c. Transportation

e IS

trans;portaﬁon.
a. Air transport b. water transport

c. Land transport

3. Approximately of all internal trade
1S transported by oceans and scas.

D.80% c.90%

are a part of National trade corridor

the = latest mecans of

project’
a. Motorways b. National highways
c. Link roads

5. Pakistan Railway was founded in
b. 1861 c. 1961
6. ____isapath or way between two places.
a. Route b. Distance  ¢. Road

7. At present about km of motorways

are operational in Pakistan.

. {358)

1a. GDPv

RS

9. is an Internationnl l}(n'{ihéf'wq!{ !

between Pakistan and Afghanistpy, ’

a. Torkham b, Chaman ¢, Gwadgy.
UNIT 6

SOCIAL AND ECONOM|(
DEVELOPMENT

[oxercise

[. Choose the correct option:

L . is one of the most mpoyy,

reasons for the level of development in Illm

world. It

a. Climate

d. Geographical locationy
2. Development enn_be divided into

b. Agriculture ¢. Hazards

broad categories. T
0.2V b.g§ .9 d. §
3. Wealth inequality is also known ay

St

b. Wealth gapv

d. Unevenness
the purchasing power of

a. Disparity
¢. Incquality
4. Duc to
pcople decreases.

a.Inflationv b, Unemployment

|c. Hliteracy  d. Ignorance

. il s direetly associated with ()
[level of income of individunls.

a. Health b. ‘Technology

¢. Population . Standard ol livingy

6. The total value of all goods and serviees
produced in onc year, within a country, js
called

¢. HDI d. EDI
for economic

b, GNP
7. Hligh iflation is

development.
a. pood b. badv ¢, ncutral  d. terrible

8. The state where the individuals are unable

to get jobs, is called

a. inflation b, unemploymentv

c. education . health

9. Most of the people in the world live in

countrics.

b. developingy

. under-developed

development plays an
achieving sustainable

T

a. devcloped

¢. industrialized

10,

important role in
development goals.

| a. Institutional

| ¢. Technologicalv

b. Cultural
d. Social

a. 2800 b. 2000 c. 3000 2. Give brief answers to the following
- 8. Silk Route connects Pakistan with questions:

a. India b. China C. Iran
PR M ) i I - L B R p—
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LB yroe utilization | earth.
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2;wam ment 3.Regional
g Functioning of J imbalance

1on |
%%‘ grows | When GNS _grows

a8

Resource Book
difference between GDP and | Ans. consequences

faster than GDP, it

genotes  that the | denotes a possible
qation is | brain drain
mnomically

orOWINg. |

Gross  domestic | Gross National
Eroducts Products

includes income of | Excludes income of
foreign foreign

multinational multinationals

02, Write a note on the OECD.

Ans, OECD is a group of 38 countries; 1t was
fonded in 1961 in France to improve the
economic and social conditions of the member

countries.
Function of OECD:

e It improves the economic “and social

Q3. Enlist some economic development

conditions of member countrics.

It

provides
governments for improvement in their

policy solulions

developmental level.

It publishes reports on the economy and

analyzes the impact of policy 1ssues.

Makes recommendations for economic

improvement around the world.

It provides

a platform

10

economic problems.

Indicators important for development,

Ans, Follow

ndicators-

;- Gross domestic product (GDP).
; Gross National Product (GNP).

- Wealth inequalit
4. Inflation, :

94- What ar

Nequality?

ing are the economic development

5. Unemployment.
¢ the conscquences of wealth

10

discuss

) (359)

Geography -8
of  wealth
inequality: Incquality of wealth
poverty in the country.

» It.creates a gap between wealthy people
and poor pcople of the country.

» It crcates. anxicty and crimes 1
country.
Compare

B

results 1N

characteristics of

QS.

{Wwo

| developed and developing countries. 3.

Ans.
Developed
Countries
L

Developing
Countrics
Developing.
cgountrics do not
have good locations
with  respect 1o
elimate  resources
and trade.

The population
erowth rale 1s very
high. .

Giver detailed answers to the following
questions:

Q1. Explain human development indicators
in detail,

Ans. Human developmient indicator:

Human development indicators measure the
non-cconomic  aspects  of a  country’s
development, espectally 1n three broad arcas;

Developed
countries have a
pcood geographical
location with respect
to climate resources
and trade.

2. The. population
erowth rate.as low

o llealth
e FEducation
e Standard of living per capita income

Human development indicator scales:

HDI scale measures from 0 to 1.

HDI b/w 0.8 and | = high standard living

HDI between 0.6 and 0.4 = low standard of
living,

Indicators:

1) Education:

e Lducation 1s the most important

indicator of human development.

e It 1s the most uscful weapon to reduce
poverty, tmprove health and develop a
high standard of living.

Developed  countries  have a  100%
litcracy rate. Litcracy rate measures
access of people to education.,

1), Health:

o Iealth facilitics arc assessed by big life

expectancy and low mortality rate.

e It i1s the access of people to medical
facilitics,

&
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i), Standard of I Aving:

e Standard of living is directly associated
With  the level of individuals or
restdents.

It can be asscssed at aggregate level by
calculating per capita income.

Note: HDI Records changes in the level of
development of countries over time.

Q2. What are the impacts of technology on
the development of 2 country?

Ans. Impacts of technology on development

of a countrv:

e Technology plays an important role in
the development of any country.

® Tecchnological advancement allows
countries to produce high quality goods
and services in a short time.

e Technology improves the efficiency of
labour. |

e ‘TTechnology improves our business
OutCcomes.

e Rapid development can only be
achieved through high technology.

e DPeople’s television, intermet  and
satellite data is extremely important in
every field.

Q3. Classify the economic activities with
examples?

Ans. Economic Activities:.

Economic activities refer to the human
activities or efforts for .the purpose of
livelihood and income generation.

Geographers classify human activities into five
groups.

I. Primary economie activities:

These activities are directly related to the
nature or extraction of resources of the earth,
Example:

Agniculture, livestock,
fishing, mining etc.

2. Secondary Economic activities:

These activitics usc raw material produced by
primary activitics and change their form into
more valuable [inished goods.

Example:

Industry, manufacturing, construction ctc.

3. Tertiary economics Activitics:

These activities provide a wide range of
services to primary and secondary services.
Example:

Clerical and financial services, trade, transport,
communication,

farming, forestry,

¥ T e -

(360)

closcly linked with tertiary uc(iv‘;’[licc? an Ofle,
Example: ' |
Educational  services,  healp, |
recreational services, information lech “MVige,
5. Quinary Economic services: nﬁl”ﬁ?. .
These activities  are relatively .
associated with high intellectuals . o g
Example:

Scientists, rescarchers, policy Makers |
executives, > lop |

ADDITIONAL SHORT QUESTION
Q1. How many developed angd ¢
countries are there in the world?
Ans.  According to, the” UN there |
developed countries  and
countries.

Q2. Define a developed country?

Ans. 1hose”countries that are develq
terms ‘of', economy and industrializatig
high per capita income (above $12,000)
called developed countries.

Q3. Define underdeveloped countries?
Ans. These countics are less developed
cconomically than others, with little Industry
and little money spend on education and heg)y
with very low levels of per capita income (less
than $1000)

ped iy

drg

Q3. What is the unemployment rate i |

Pakistan?

G("n |
| 4. Quaternary Economic Activitigy. Ly,
These are special types of servine.

0 wity |

Ans. The unemployment rate in Pakistan is
about 4.70% in 2022.

Q4. Who developed HDI?

Ans. Pakistan economist ~ Mahbub-
ul-Haq developed the Human development
Index(HDI) and was promoted by UNDP IN
1990.

(26. Define Development?

Ans. In geography, development refers to the
cconomic and social growth of a country.

(7. Describe few  characteristics of
developed countries? |
Ans. Developed Countries have  following
characteristics. |

|. The population rate is low in thse countrics.
2. Only 1/5™of the world's people live in hese
countrics.

3. These countries have good geog
locations with respect to climate, resources &

a

caphicd
4 \d

race.
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H ~tat -‘ahul’ted infrastructure like transport,

3 -::i(m and health.

| {nﬁnc developing countries?

*-. ThosS C(‘I'U.I'lml:\ W hth Xige Cﬂn“ thmu“h

': : aitial fevels of industrial dev: Llopmt.nt

- -z with moderaie per capita (between $1000
1 ntLUN

Qi" Write consequences of unemployment?
~ hich employment mate leads to negative

____1_..:; on development. It can cause illness.

o~ icts and social unrest in the country. It alsg

; s in poor quality education.

MCQs
i QECD was founded _
: 1961 b. 1971 c. 1981
OFCDisagroup of __ countries.
3 3 b. 34 C. 38
;, Life Expectancy rateis ____ in developed |
countries. " - -
: Low 0. High C. Normal
4 Pakistan’s Inflation rateis
: 1056 b. 11% c. 12%
3, Literacy rate in Pakistan is
2 30% D. 50% c. 60%

& The mortality rate in Pakistan is

=9
deaths per 1000 live births.

:;.-5-57 D937 c. 66.7

. GDP of Pakistan is billion us|
dollars.
2270 b. 362 c. 370
8. About of people live in developing
countries.
2 50% D. 70% C.80%
%. Developed countries ha\e literacy
rate
2. 80% b"20% c. 100%

10. The World'Bank has replaced _ with
Gross Nation#hIntome (GNI)
& GDP b. GNP c. None

T —

Yy
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